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QUESTION: 48 

What are Cast Iron’s product delivery options?
 

A. WebSphere Cast Iron Live (Cloud), WebSphere Cast Iron XH40 (physical), and 
WebSphere Cast Iron Hypervisor (virtual) 
B. WebSphere Cast Iron Live (Cloud) only 
C. WebSphere Cast Iron XH40 (physical) only 
D. None of the above. 

Answer: A 

QUESTION: 49 
In a scenario where your customer wants to use one of its available servers, what would 
be the best delivery option? 

A. Both WebSphere Cast Iron XH40 (physical appliance) and WebSphere Cast Iron 
Hypervisor (Virtual appliance) 
B. WebSphere Cast Iron Hypervisor (Virtual appliance)  
C. WebSphere Cast Iron XH40 (physical appliance) 
D. WebSphere Cast Iron Live (Cloud) 

Answer: B 

Reference 
http://www-01.ibm.com/software/integration/cast-iron-cloud-integration/ (topic: 

deployment options) 


QUESTION: 50 

Which one of the following is NOT a Cloud Endpoint for Cast Iron?
 

A. Salesforce.com 
B. Success Factors 
C. JD Edwards 
D. Web Services 

Answer: B 
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Explanation: 
http://dl.sugarforge.org/castiron/castiron/WebSphereCastIronCloudintegrationforSugarC
 
RM/WSS14119-USEN-00_HR.pdf (page 2 and 3, topic: systems connected) 


QUESTION: 51 

What is True regarding a WebSphere Cast Iron Hypervisor Fixed-Term License?
 

A. Software entitlement granted for a 12 month period. 
B. Software entitlement includes 12 months of software Subscription & Support. 
C. When the software license expires at the end of the term, the user must either stop 
using the product or obtain a new license. 
D. All of the above. 

Answer: D 

QUESTION: 52 

Why is Cast Iron preferred over coding for clients or business?
 

A. Reduced Labor Costs: The hidden costs of custom code are revealed over time for 
maintaining and changing integrations. 
B. Custom code is point-to-point and thus not scalable over time. 
C. Custom code does not provide visibility into what is working or broken.  
D. All of the above. 

Answer: A 

Explanation: 
http://www.redbooks.ibm.com/redpapers/pdfs/redp4674.pdf (page 3, third bulleted 
point) 
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